FAIM progress test: Dec 2001 numerical answers

Q1 (i) 6.597%

      (ii) A nominal rate of interest of 6.597% pa convertible monthly is equivalent to an effective rate of 6.8% pa.

Q2 (i) 936.47

      (ii) 3.94% pa

     (iii) Since the yield is a kind of average of the interest rates involved, we would expect it to lie between 3 and 5%. It is therefore very reasonable that it is around 4% pa.

Q3 (i) 7.5% pa

      (ii) 7.5461% pa

Q4(a) (i) 5738.61

          (ii) 5704.89

     (b) We expect (a) (i) to be higher than (a) (ii) since (i) uses a lower rate of interest (ie 6% pa) than (ii) does (ie 6.09% pa) to find the present value.

Q5(i) 106.69

     (ii) 247.13

Q6 (i) yield is 4.4% pa to nearest 0.1%pa

     (ii) Net present value at 4.4% pa  is 2.72 which is close enough to zero to suggest that it is the solution.

Q7 384.64

Q8 (i) for t<7     v(t)= 100 * exp (-0.03t – 0.002 t^2)

         For t>7     v(t) = 100 * exp (0.0005 t^2 – 0.09t + 0.32)

    (ii)(a) 587.93

         (b) 652.35

Q9 PV = £6,309.45

